NQF 0089 requires the communication from provider to provider for:
Numerator = 
AND: 
AND: "Communication: From Provider to Provider: Level of Severity of Retinopathy Findings" 
AND: 
OR: "Communication: From Provider to Provider: Macular Edema Findings Present" 
OR: "Communication: From Provider to Provider: Macular Edema Findings Absent" 

[bookmark: _GoBack]Denominator Exceptions = 
AND: 
OR: "Communication: From Provider to Provider not done: Medical Reason" for "Macular Edema Findings Absent Grouping Value Set" 
OR: "Communication: From Provider to Provider not done: Patient Reason" for "Macular Edema Findings Absent Grouping Value Set" 
OR: "Communication: From Provider to Provider not done: Medical Reason" for "Macular Edema Findings Present Grouping Value Set" 
OR: "Communication: From Provider to Provider not done: Patient Reason" for "Macular Edema Findings Present Grouping Value Set" 
OR: "Communication: From Provider to Provider not done: Medical Reason" for "Level of Severity of Retinopathy Findings Grouping Value Set" 
OR: "Communication: From Provider to Provider not done: Patient Reason" for "Level of Severity of Retinopathy Findings Grouping Value Set" 

How is the "Communication: From Provider to Provider" actually being captured?  There does not seem to be a value set for the communication.
It looks like simply entering the "Level of Severity of Rentiopathy Findings Present", "Macular Edema Findings Present", or "Macular Edema Findings Absent" is counting.  How does this measure differ from 0088?
Is it possible to capture Communication from Provider to Provider: with the following?
· “Verbal Communication” – SNOMED code 185316007
· “Letter/Fax Communication” – SNOMED code 308720009


